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QUESTION 1

Which statement regarding DSN1LOGP is FALSE?

A. DSN1 LOGP does not require DB2 privileges.

B. DSN1 LOGP runs on archive data sets when DB2 is running.

C. DSN1 LOGP can read logs that have been compressed by DFSMS.

D. DSN1 LOGP can print the log records for both base and clone table objects.

Correct Answer: C

QUESTION 2

Which copy operation CANNOT be performed by DSN1COPY?
A. DB2 concurrent copies to DB2 VSAM data sets.

B. DB2 image copy data sets to DB2 VSAM data sets.

C. DB2 VSAM data sets to other DB2 VSAM data sets.

D. DSN1COPY sequential data sets to other sequential data sets.

Correct Answer: A

QUESTION 3

Which two features are the motivation behind the conversion to extended RBA/LRSN format?
A. Greater RECOVER utility concurrency.

B. Reduction of the potential for an RBA rollover.

C. More precise PIT recovery of the DB2 system catalog and directory.

D. Potentially faster UPDATE performance due to greater LRSN granularity.

E. Reduced p-Lock contention in the coupling facility due to greater LRSN granularity.

Correct Answer: C

QUESTION 4
In a data-sharing environment, what is the first step to prepare for a DB2 RESTORE SYSTEM to a point in time?

A. Stop all DB2 members.

Latest C2090-317 Dumps | C2090-317 VCE Dumps | C2090-317 Practice Test 2/3


https://www.leads4pass.com/c2090-317.html
https://www.leads4pass.com/c2090-317.html
https://www.leads4pass.com/c2090-317.html

https://lwww.leads4pass.com/c2090-317.html

Leads4 Pass 2024 Latest leads4pass C2090-317 PDF and VCE dumps Download

B. Stop one DB2 member.
C. Do not stop any DB2 members.
D. Stop only the member where RESTORE SYSTEM will run.

Correct Answer: D

QUESTION 5

A given buffer pool is to be used for sequentially accessed pages only. Setting which buffer pool attribute to 0 (zero) will
disable parallel processing operations in this buffer pool?

A. DWQT
B. VDWQT
C. VPSEQT
D. VPPSEQT

Correct Answer: D
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